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SIASHU 216,822 886,632 669,810
101 @124H| 8,400 8,400 0
M JIZtHZ2SE 8,400 8,400 0
NEY SIIHSUAIL A BN 2EAS 1A
]l 8,400,000& 8,400
201 ZBt=3hl 124,542 119,702 4,840
01 AtR2tc|HI 12,680 14,580 1,900
DIHA SIHLUAIE A 2 257
500,000 * 122 6,000
NsJIH 22l FHIE 1I=d]
100,000 x10E #2323 2,000
NSIASUAIY A3 2+
100,000 %10 1,000
NSIIHLUAS S (150H)
2,600,000 2,600
NSIASU SRFX HAI
1,080,000 1,080
2 s5=44l 111,862 105,122 6,740
NSIIHALUAIY & 3 4&5R(ER)
1,600 *120H+202| £ 384
NSY sIHLUAISE A Hate3
2,160,000 2,160
S8 SIIHLUAME A NERTES
18,000,000 18,000
1)58 1ESSXSRM (15TH)
34,0002 = 1504 510
NYUAISE St 2EES(UE 30H)
800,000 +3CH 2,400
NtAIZE XA 282
7,000,000& 7,000
NEUAEE S 282
170,000 »184CH 31,280




2A: jlg_n_.:.ﬂf
RZH <P
=l iJlﬁlO'EH (2 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NYUSII3 ==cly| 24,000,000 24,000
NegLs SFH I
1,400 +210H*1202| £ 3,528
DNHHEMEIARIZ RF4I|
12,000,000 12,000
NHHEAMBIA T SFXE4H]
200,0002 = 15CH 3,000
NS EHYH S&(140H)
400,000 = 14CH 5,600
1NSY sIIHLUAIGE A SIESHED] dXts
2,000,000& 2,000
202 04l 23,880 25,530 21,650
01 2LHoIH 23,880 25,530 1,650
NSIAHEU PRF8 S0
60,0003 x32& »663] 11,880
NSIAHSU S22 ALY
60,0002 x8& +53] 2,400
DEIIHAL B AHIA Z2E 2Uot)
10,0002 x82H*10L «12& 9,600
206 M=l 60,000 70,000 10,000
01 MHZH| 60,000 70,000 10,000
NEY SIHAUAMEA 2 == FE WA
60,000,000& 60,000
sgoHEd 50,000 100,000 /50,000
301 EtE2 NS 50,000 100,000 50,000
14 0Bt 2a3 50,000 100,000 /50,000
=Y SHH & =8 XM B35 FSA
2 A 50,000,000 50,000
LHEIASHEX) 1,328,680 1,600,000 A271,320
= 1,100,000
s 220,000
s 8,680
201 2= 21,000 13,500 7,500
= 10,500
= 2,100
o 8,400
01 AtR2te|HI 1,000 4,000 23,000
DX gz 1,000,0002 *1CH*10H A 1,000
= 500
= 100
[Ea 400
02 S3=gHl 20,000 9,500 10,500
NYU=21H B8 20,000,000& 20,000
= 10,000
= 2,000




SN =23
3 ==
Cel: SIIAICH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 8,000
301 LEtE NS 700 5,000 4,300
= 350
= 70
Ea 280
11 #AIAMHIXIZ S 700 4,000 23,300
1)J13 =28t MK A5t
10,0002 x36& * 101 A#22] 700
= 350
= 70
Ea 280
405 AtaHE = 1,306,980 1,294,670 12,310
= 1,089,150
= 217,830
01 Tt 2SS F=HI 1,306,980 1,294,670 12,310
NYUsIH 7L 1,306,980,000& 1,306,980
= 1,089,150
S 217,830
SYIHRM WK (LX) 9,000 10,200 21,200
= 4,500
[ 1,350
T 3,180
201 Eer23 | 5,500 8,600 23,100
= 2,750
== 825
o 1,925
01 At22t2l] 5,500 8,600 23,100
NsYIIA et us Wi & 22 M
10,0002 *200= 2,000
2 1,000
< 300
2 700
NS QDR SH T
350,000& *102] 3,500
= 1,750
== 525
o 1,225
206 M=l 3,500 0 3,500
= 1,750
== 525
o 1,225
01 MHZHI 3,500 0 3,500
NS SZERUSE He 7Y
350,000& *102] 3,500




SN =23
3 ==
Cel: SIIAICH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,750
=S 525
s 1,225
sIHSUAME AL T2(EX) 120,000 55,000 65,000
< 54,000
= 66,000
101 @124H| 120,000 55,000 65,000
= 54,000
= 66,000
MU IIRINZZENSES 120,000 55,000 65,000
NsIIH LA A LXK D122
A 2= 120,000,000 120,000
= 54,000
o 66,000
AsRASM KR (BX) 100,000 105,000 /5,000
= 40,000
T 60,000
101 @124H| 77,000 77,000 0
= 30,800
= 46,200
M IIRINZENSES 77,000 77,000 0
NEsR42 el A
77,000,000 77,000
= 30,800
o 46,200
201 et 3| 23,000 28,000 /5,000
= 9,200
Ea 13,800
01 At2t2ltl 20,500 12,580 7,920
=242 HII 2=
17,500,000 17,500
= 7,000
o 10,500
NEs24sE Mol N NgEE 2
3,000,000 3,000
= 1,200
o 1,800
2 35244l 2,500 15,420 A12,920
=22 el KA A28z
30,0002 +53 %10 1,500
= 600
[Ea 900
NEs242 HIISX2
1,000,000& 1,000




M =28
B Sel)|S23
Cel: SIIAICH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 400
s 600
sIHuK(EX) 3,000 0 3,000
= 1,500
Ea 1,500
201 er2 3| 3,000 0 3,000
= 1,500
s 1,500
03 A= 3,000 0 3,000
NsYIIH otd & SHARNS
3,000,000 *1JH 2+ 13] 3,000
= 1,500
= 1,500
HH2LIHIOl1=E23D) 54,407 64,525 A10,118
el 2E| 31,007 41,125 /10,118
el E2d| 31,007 41,125 10,118
101 ©1AH| 31,007 41,125 10,118
01 2= 31,007 41,125 A10,118
DAIZIRIZ2RSE(X AL 205 S 0I6H)
227,000 x6E ~ 12 16,344
NARIAZRSSH(XEZAL 218 014))
242, 2203 x3H 123 8,720
NAIZIRIZR2E(HTA
247,600 «2H 122 5,943
J1I=23Hl 23,400 23,400 0
JI23Hl 23,400 23,400 0
201 223 4,080 4,080 0
01 At22t2ltl 4,080 4,080 0
NEM2Y AtR2teld]
120,000 +34& 4,080
202 04l 16,320 16,320
01 =LHOHI 16,320 16,320
NEA2E =0
60,0002 12 »883] 5,280
NIIEE8 gRFN SR U0
60,0003 x23 2 *82 11,040
203 HR=&H] 3,000 3,000
M EA2ER=A 3,000 3,000
1)30@! olst 250,000& 122 3,000




